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334,000 200,000 134,000
200 NIQl= 79,000 85,660 26,660
210 ZEHA = 66,700 64,160 2,540
211 A== 38,760 38,760 0
211-02 SR 38,760 38,760
< HED > 38,760 38,760
SPAUHOHIE LU= 3,230,0002%123] 38,760
212 Ari2g =g 20,400 20,400 0
212-09 JIEIAE = 20,400 20,400
< A= > 20,400 20,400
SFUUOHIHE AIEZ 1,700,000 * 122 20,400
216 OlAt==g 7,540 5,000 2,540
216-01 33001t 7,540 5,000 2,540
< A= > 7,540 5,000 2,540
=302 0IXt==¢ 7,540
220 SAIEAI2== 10,000 20,000 210,000
224 J|Et=¢ 10,000 20,000 210,000
22407 12|+ 10,000 20,000 210,000
< A= > 10,000 20,000 210,000
SAIAAUNOHIE dUHES= 2,500,000 4= 10,000
240 XN-HHE =g 2,300 1,500 800
241 NHAS ¢ 2,300 1,500 800
24101 N =g 2,300 1,500 800
< A= > 2,300 1,500 800
GHAUUFEOIIE U= 1,400
GTUUFEOIIE MEZ 900
700 E8-USHUFHCH 255,000 114,340 140,660
710 B82S 240,000 108,340 131,660
M 2de= 240,000 108,340 131,660
711-01 =AMIAHL = 240,000 108,340 131,660
< HEL > 240,000 108,340 131,660
EHALO= 240,000
720 LHSHeH 15,000 6,000 9,000
721 Y= 15,000 6,000 9,000
721-03 JIEFSIAHIA LS 15,000 6,000 9,000
< A= > 15,000 6,000 9,000
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